
Nombres Relatifs (J)Remplissez l’espace vide.____ × 8 = 24 ____ × 4 = 32 ____ × 8 = 568 × ____ = 24 4 × ____ = 32 8 × ____ = 5624 ÷ ____ = 8 32 ÷ 8 = ____ ____ ÷ 7 = 8____ ÷ 8 = 3 ____ ÷ 4 = 8 56 ÷ 8 = ____
5 × ____ = 25 8 × ____ = 64 ____ × 3 = 24____ × 5 = 25 8 × 8 = ____ 3 × 8 = ____25 ÷ 5 = ____ 64 ÷ 8 = ____ ____ ÷ 8 = 3____ ÷ 5 = 5 64 ÷ ____ = 8 ____ ÷ 3 = 8

____ × 8 = 40 3 × ____ = 6 8 × 1 = ________ × 5 = 40 2 × 3 = ____ ____ × 8 = 8____ ÷ 5 = 8 6 ÷ ____ = 2 ____ ÷ 8 = 140 ÷ 8 = ____ 6 ÷ 2 = ____ 8 ÷ 1 = ____
1 × ____ = 2 2 × 4 = ____ ____ × 6 = 362 × 1 = ____ 4 × 2 = ____ 6 × ____ = 36____ ÷ 1 = 2 ____ ÷ 2 = 4 36 ÷ 6 = ____2 ÷ ____ = 1 8 ÷ 4 = ____ ____ ÷ 6 = 6
1 × 6 = ____ 3 × ____ = 18 ____ × 4 = 326 × 1 = ____ 6 × ____ = 18 ____ × 8 = 326 ÷ 1 = ____ ____ ÷ 3 = 6 32 ÷ 8 = ________ ÷ 6 = 1 ____ ÷ 6 = 3 32 ÷ ____ = 8
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Nombres Relatifs (J) RéponsesRemplissez l’espace vide.3 × 8 = 24 8 × 4 = 32 7 × 8 = 568 × 3 = 24 4 × 8 = 32 8 × 7 = 5624 ÷ 3 = 8 32 ÷ 8 = 4 56 ÷ 7 = 824 ÷ 8 = 3 32 ÷ 4 = 8 56 ÷ 8 = 7
5 × 5 = 25 8 × 8 = 64 8 × 3 = 245 × 5 = 25 8 × 8 = 64 3 × 8 = 2425 ÷ 5 = 5 64 ÷ 8 = 8 24 ÷ 8 = 325 ÷ 5 = 5 64 ÷ 8 = 8 24 ÷ 3 = 8
5 × 8 = 40 3 × 2 = 6 8 × 1 = 88 × 5 = 40 2 × 3 = 6 1 × 8 = 840 ÷ 5 = 8 6 ÷ 3 = 2 8 ÷ 8 = 140 ÷ 8 = 5 6 ÷ 2 = 3 8 ÷ 1 = 8
1 × 2 = 2 2 × 4 = 8 6 × 6 = 362 × 1 = 2 4 × 2 = 8 6 × 6 = 362 ÷ 1 = 2 8 ÷ 2 = 4 36 ÷ 6 = 62 ÷ 2 = 1 8 ÷ 4 = 2 36 ÷ 6 = 6
1 × 6 = 6 3 × 6 = 18 8 × 4 = 326 × 1 = 6 6 × 3 = 18 4 × 8 = 326 ÷ 1 = 6 18 ÷ 3 = 6 32 ÷ 8 = 46 ÷ 6 = 1 18 ÷ 6 = 3 32 ÷ 4 = 8
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